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Enrollment No………………………. 

Bachelor of Science (Agriculture) 

Fifth Semester Main Examination, Dec-2020 

Crop Improvement - I (Kharif Crops) [CI-I531] 

Time: 3:00 Hrs                                                                          Max Marks 50 

Note :  All three sections are compulsory.  

 Student should not write anything on question paper 

Part-A  (Hkkx v) 

This section contains objective type questions. Each question carry 1 marks. 

bl oxZ esa oLrqfu"B iz'u gSaA izR;sd iz'u dk ,d vad fu/kkZfjr gSA 

Q1.  Multiple Choice Question / oLrqfu"B iz'u                   [1×10=10] Marks  

(i)  Which resistant to govern by major gene is called as -  
 og izfrjks/k tks eq[; thu ds }kjk fu;af=r gksrk gS dgykrk gS &  

(a) Vertical resistant / m/okZ/kj izfrjks/k (b) Horizontal resistant / {kSfrt izfrjks/k 

(c) Biotic resistant / tSfod izfrjks/k  (d) Abiotic resistant / vtSfod izfrjks/k 

 

(ii)  Loss of variability from cultivated species and their wild from and wild relative also called -  
df̀"kr iztkfr vkSj mlds taxyh Lo:i vkSj taxyh lacaf/kr dh thou {kerk [kksuk dgykrk gSA 

(a) Inbreeding depression  / vUr% iztuu {kj.k  

(b) Genetic erosion / vuqokaf'kd {kj.k 

(c) Heterocyst / ladj vkst   

(d) None of these / buesa ls dksbZ ugha 

 

(iii)  Genetic constitution of hybrid -  
 ladj dk vuqokaf'kd laxBu gksrk gS &  

(a) Heterogenous Homozygous / gsVjksftul gksekstk;xl   

(b) Heterogenous Heterozygous / gsVjksftul gsVjkstkxl 

(c) Homogenous Homozygous / gkseksftul gksekstk;xl    

(d) Homogenous Heterozygous / gkseksftul gsVjkstk;xl  

 

(iv)  Sum of the total hereditary material is called -  
leLr oa'kkoyh inkFkZ dgykrk gS &  

(a) Lace rase / izkjafHkd larfr  

(b) Germ plasm  / tuu nzO;  

 (c) Variety / iztkfr  

(d) Breeding line / iztuu drkj  

 

 

(v)  The process of removal to anther (male) from flower is called as- 
 iq"i ls ijkxdks"k ¼uj½ Hkkx dks gVkus dh fØ;k dgykrh gS & 

(a) Isolation/ ìFkDdj.k    

(b) Emasculation/ foiqalhdj.k 

(c) Self incompatibility / Lo vfu"ksP;rk    

(d) Conservation / laj{k.k 

 

(vi)  Who is given the concept of gene pool - 
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thuiwy 'kCn fdlus fn;k Fkk &   

(a) Mandel / esUMYk     (b) Johnson / tkWulu  

(c) Robert brown / jkscVZ czkmu   (d) Harlan / gkyZu  

 

(vii)  Who is given the term of polygenic character -  
 Ekk=kRed y{k.k 'kCn fdlus fn;k &  

(a) Watson / okVlu   (b) Lamark / ySekdZ  

 (c) Mather / esnj    (d) H. S. flour / ,p- ,l ¶yksj 

  

(viii)  Tift 23 are the wild related -  
fV¶V 23 taxyh iztkfr gS &  

(a) Maize / eDdk    (b) Sorghum / Tokj  

(c) Bajra / cktjk    (d) Barley / tkS 

 

(ix)  Sum of the total variability in the genetic material is known as -  
 vuqokaf'kd inkFkZ dh leLr fofo/krk dks dgrs gS &   

(a) Gene pool / thudks"k      

(b) Seed / cht  

 (c) Working collection / dk;Zdkjh laxzg.k    

(d) Germ plasm / tu nzO;  

 

(x)  Origin of maize -   
 eDdk dk mRifRr LFkku gS &  

(a) India / Hkkjr      (b) Maxico / esfDldks  

 (c) China / phu     (d) Africa / vQzhdk   

 

Part-B  (Hkkx c) 

 

Short Answer type question. Each question carries 2 marks. (any five)         [2×5=10] 
y?kq mRrjh; iz'uA izR;sd iz'u ds 2 vad fu/kkZfjr gSaA ¼dksbZ ikap½ 

Q.1        What is the center of the origin? Explain.  
mRifRr dsUnz D;k gS\ le>kb,A 

 

 

Q.2  Explain the wild relative.   
taxyh lacaf/kr dks le>kb, 

 

Q.3  What is the genetic resource? Explain.  
vuqokaf'kd lalk/ku D;k gS\ le>kb,A  

 

Q.4  Define the land race and its significance.   
izkjafHkd fdLe D;k gS\ blds egRo dks le>kb,A  

Q.5  Explain the apomixes and write their significance.  
vlaxtuu D;k gS\ blds egRo dks le>kb,A  

 

Q.6  Explain the hybridization and write their types.  
 ladj.k dks le>kb, vkSj mlds izdkj fyf[k,A  

 

Part-C  (Hkkx l) 
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Long Answer type question. Each question carries 5 marks (any six)           [5×6=30] 
nh?kZ mRrjh; iz'uA lHkh iz'uksa ds 5 vad fu/kkZfjr gSaA ¼dksbZ N%½ 

 

Q.1  What is male sterility? Write there type and their utilization.  
 uj cU/k;rk D;k gS\ mlds izdkj fyf[k, vkSj mi;ksfxrk fyf[k,A  

 

Q.2 Different between vertical and horizontal disease resistance.  
m/okZ/kj vkSj {kSfrt jksx izfrjksf/krk ds chp varj crkb,A  

 

Q.3  Write the major breeding objective in detail.  
ikni iztuu ds mn~ns';ksa dks foLrr̀ esa fyf[k,A  

 

Q.4  Write the detail of mass selection and their merits.  
lewg oj.k dks foLrr̀ esa fyf[k, vkSj mlds xq.k o ykHk Hkh fyf[k,A  

 

Q.5  Explain the back cross. Write the process transfer of dominate gene in wheat disease resistant.  
izrhd ladj.k dks le>kb, vkSj xsgw¡ esa jksx izfrjks/k ds fy, izHkkoh thu ds LFkkukarj.k dh fof/k fyf[k,A  

 

Q.6 Write the process pedigree method with merit and demerit.  
oa'kkoyh fof/k ds ckjs esa xq.k o nks"k lfgr fyf[k,A  

  

Q.7  Different between pure line and mass selection.  
 'kq) oa'k Øe o lewg p;u esa varj crkb,A  

 

 

Q.8  Explain the adoptability and write the factors affecting the adoptability.  
vuqdqyu'khyrk dks foLrr̀ esa le>kb, vkSj vuqdqyu'khyrk dks izHkkfor djus okys dkjdks ds ckjs esa fyf[k,A  

Enrollment No………………………. 

Bachelor of Science (Agriculture) 

Fifth Semester Main Examination, Dec-2020 

Pests of Crops and Stored Grain and their Management [CPM531] 

Time: 3:00 Hrs                                                                       Max Marks : 50 

Note : All 3 sections are compulsory.  

Student should not write anything on question paper. 

 

Part-A  (Hkkx&v) 

 

This section contains objective type questions. Each question carry 1 marks.  

bl oxZ esa oLrqfu"B izdkj ds iz'u gSaA izR;sd iz'u dk ,d vad fu/kkZfjr gSA 

Q.1 Multiple choice Question / oLrqfu"B iz'u&                      [1×10=10] 

 
(i)  Which is the order of thrips is-   
 buesa ls fFkzIl dk x.k dkSu lk gS& 
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(A) Lepidoptera      (B) Thysanura         (C) Thysanoptera       (D) Hemiptera  

 

(ii)  NC – IPM located at - 

NC - IPM dgk¡ fLFkr gSa & 

 (A) Bhopal / Hkksiky     (B) Indore / bUnkSj 

 (C) Jabalpur / tcyiqj   (D) New Delhi / ubZ fnYyh 

 

(iii)  Which is the damaging stage of gram pod borrer -  
 buesa ls pus dh bYyh dh gkfudkjd voLFkk gS &  

 (A) Grub / xzc    (B) Caterpillars / dSVjfiyj 

 (C) Nymph / fuEQ    (D) Maggot / eSaxV 

 
(iv)    Vector of cotton leaf curl virus is -  
 dikl dk yhQdyZ ok;jl dk okgd gS &  

 (A) Jassid / tslhM    (B) White fly / lQsn eD[kh 

 (C) Aphid / ,QhM    (D) Thrips / fFkzIl 

 
(v)  The scientific name of maize stem borer is -  

eDds ds rus Nsnd dk oSKkfud uke gS &  

 (A) Chilo partellus / fpyks ifjZyl     

 (B) Heliothis armigera / gsyh;ksFkhl vkehftjk 

 (C) Sciropophaga incertalus / LdkbjksQsxk buljVqyl      

 (D) Leptocorisa acuta / ysIVksdsjkbtk ,D;wVk  

 

 (vi)  Pink boll worm is a harmful insect -  
 xqykch bYyh ,d [krjukd dhV gS &  

 (A) Cotton / dikl   (B) Rice / /kku  

 (C) Maize / eDdk     (D) Soyabean / lks;kchu  

 
(vii) Gundhi bug attack at which stage of rice -   
 /kku dk xa/khcx dkSu&lh voLFkk ij vkØe.k djrk gS &  

 (A) Germinator time / vadqj.k ds le;  (B) Flowering time / Qwy vkus ds le; 

 (C) Milking stage / nqf/k;k voLFkk esa   (D) Harvesting time / dVkbZ ds le;  

 

(viii)  Which is an examples of BT Cotton -  
 buesa ls dkSu&lk ch-Vh- dikl dk mnkgj.k gS &  

 (A) Jaydhar / t;/kj    (B) Varalaxmi / okjky{eh  

 (C) N.H. 44 / ,u-,p- 44    (D) Bolgourd / cksyxkMZ  

  

(ix)  Which is the family of Khapra bettle -  
 buesa ls [kijk chVy dk dqy gS &  

 (A) Dermestidae / MjesfLVMh  

 (B) Bruchidae / czqfpMh  

 (C) Gele chidae / xsysfpMh  

 (D) None of these / buesa ls dksbZ ugha 

  

(x)  Silvery shoot of onion leaf symptoms in rice plants due to which insect -  
 /kku ds ikS/kks dks :igyk ruk ;k I;kth iRrh y{k.k fdlds dkj.k gksrk gS &  

 (A) Rice Hispa / /kku dk fgLik   (B)Rice Gundhi bug / /kku eRdq.k  

 (C) Gall midge / xky fet     (D) White fly / lQsn eD[kh  

 

Part-B  (Hkkx&c) 

Short Answer type questions. Each question carries 2 marks (any 5)                    [2×5=10] 
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y?kq mÙkjh; iz'uA izR;sd iz'u ds 2 vad fu/kkZfjr gSaA ¼dksbZ 5½  
 
Q.1 Brief the key pest and major pest with example.    

dh isLV o estj isLV dks mnkgj.k lfgr le>kvksA  

 

Q.2 Define the ETL and EIL.    

 ETL o EIL dks ifjHkkf"kr dhft,A 

 
Q.3 Mark of identification and life history of cotton pink boll worm.      

dikl dh xqykch bYyh ds igpku fPkUg o thou bfrgklA  

 

Q.4 Describe the cultural method of pest control.  
 dhV fu;a=.k dh d`f"kxr fof/k;ksa dks le>kb,A  

 

Q.5 Brief note on preventive method of managing stored grain insect pests.   
 HkaMkfjr vukt ds ihM+d dhVksa dh fuokjd izca/ku mik; la{ksi esa le>kb,A  

 

Q.6 Write the common name, scientific name and control of any two rodents which harmful in stored.   
 HkaMkj.k esa uqdlku djus okys dksbZ nks pqgksa ds lkekU; uke] oSKkfud uke o fu;a=.k mik; fyf[k,A  

 

 

 

Part-C  (Hkkx&l) 

 

Long Answer type question. Each question carries 5 marks (any six)                [5×6=30] 

nh?kZ mÙkjh; iz'uA lHkh iz'uksa ds 5 vad fu/kkZfjr gSaA ¼dksbZ N%½ 

 

Q.1 Enlist five important insect pests of rice with theirs common name, scientific name, order and family.   
/kku ds ik¡p egRoiw.kZ ihM+d dhVksa ds lkekU; uke] oSKkfud uke] x.k rFkk dqyksa ds uke lwfpc) dhft,A  

 

Q.2 Enlist five important insect pests of stored grains with their common name,  scientific name order and 

family.      
HkaMkfjr vukt ds ikap egRoiw.kZ ihM+d dhVksa ds lkekU; uke] oSKkfud uke] x.k rFkk dqyksa ds uke  lwphc) dhft,A 

 

Q.3 Marks of systemic position and control of wheat termite.       
Xksgw¡ ds nhed dk oxhZdr̀ LFkku o fu;a=.k mik; fyf[k,A  

 

Q.4 What is the concentration of active ingredient in the spray of liquid when 1 gram of pesticide formulation 

having 50% active ingredient is mixed with 1 litre of water.        

;fn 1 xzke ihM+duk’kh la:i.k dks ftlesa 50% lØh; ?kVd gSa] 1 yhVj ikuh esa feyk;k tk;s rks Qwgkj  rjy esa lØh; 

la?kVd dh lkanzrk D;k gksxh\ 

 
Q.5 Write scienctific name, order, nature of damage life history and management of maize stem borer.  

eDds ds rus Nsnd dk oSKkfud uke] x.k] {kfr o izca/ku fyf[k,A  

 
Q.6 Describe soybean girdle beetle on the following heads:  
 lks;kchu pØ Hkàx dk o.kZu fuEufyf[kr 'kh"kZdksa ds varxZr dhft,A 

(a) Scientific Name, Order, Family / oSKkfud uke] x.k o dqy 

(b) Nature of Damage / {kfr izdf̀r 

(c) Control Measures / fu;a=.k mik; 
 

Q.7  Write scientific name, host plant and nature of damage of mango hopper.    
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vke ds Qqnds dk oSKkfud uke] ikS"kd ikS/ksa vkSj {kfr izÑfr fyf[k,A 

 

Q.8 Write the marks of identification and IPM of cotton spotted boll worm.   
 dikl dh fpRRkhnkj bYyh ds igpku fpUg o izca/ku fyf[k,A   

 

 

 

Enrollment No……………………. 

Bachelor of Science (Agriculture) 

Third Semester Main Examination, Dec-2020 

Crop Production Technology - I (Kharif Crops) [CPT521] 

Time: 3:00 Hrs                                                                   Max Marks : 50 

Note : All 3 sections are compulsory.  

Student should not write anything on question paper 

 

Part-A  (Hkkx&v) 

 

This section contains objective type questions. Each question carry 1 marks.  

bl oxZ esa oLrqfu"B izdkj ds iz'u gSaA izR;sd iz'u dk ,d vad fu/kkZfjr gSA 

Q.1 Multiple choice Question / oLrqfu"B iz’u               [1×10=10] 

 
(i)  What is the rice inflorescence is known as - 
 pkoy ds iq"iØe dks D;k dgrs gSa& 

 (A) Panicle / isfudy   (B) Ear / ckyh 

 (C) Siliqua / flfydqvk   (D) Spikelets / LikbZdsysV~l 

 

(ii)  ICPH – 8 is a variety of which crop- 

ICPH – 8  fdLe fdl Qly dh gSa& 

 (A)  Mungbean / eawx   

 (B) Pigeon pea / vjgj  

 (C)  Maize / eôk    

 (D) Rice / pkoy 

 

(iii)  The optimum pH of soil for rice cultivation is ranges from -   

 /kku dh [ksrh ds fy, eǹk dk mi;qDr pH eku gksuk pkfg,& 

 (A) 5-8     (B) 4-6 

 (C) 8-10     (D) 7-9 

 

(iv) Where is sorghum originated- 
 Tokj dk mn~Hko LFky dgka gSa& 

 (A) India / Hkkjr    (B) Africa / vQzhdk 

 (C) China / phu    (D) Japan / tkiku 

 

(v) The optimum seed rate for maize crop- 

vPNs mRiknu gsrw eDdk dh cht nj (Kg/ha) esa gksuh pkfg,& 

 (A) 18-20 Kg/ha    (B) 25-30 Kg/ha 
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 (C) 10-12 Kg/ha    (D) 5-10 Kg/ha 

 

(vi)  Test weight of Bajra is- 
 cktjs ds 1000 nkuksa dk otu fdruk gksrk gS& 

 (A) 10-12 gm    (B) 20-25 gm 

 (C) 5-7 gm    (D) 25-30 gm 
 

(vii)  What is the family of cotton- 
 dikl dk dwy D;k gSa& 

 (A) Graminae / xzsehuh    (B) Tiliacceae / fVyh,lh 

 (C) Malvaceae / ekyoslh    (D) Leguminosae / ysX;qehukslh 
 

(viii) How many percentage of nitrogen in urea- 
;qfj;k esa u=tu fdruk izfr’kr gksrk gSa& 

 (A) 18%    (B) 46% 

 (C) 20%    (D) 40% 
 

(ix)  Where is ICRISAT located at - 

 ICRISAT dgk¡ LFkkfir gS & 

 (A) Delhi / fnYyh    (B) Hyderabad/ gSnjkckn 

 (C) Indore / bUnkSj    (D) Jodhpur / tks/kiqj 
 

(x)  What is the botanical name of Finger Millet / Ragi-   
 jkxh dk okuLifrd uke D;k gS & 

 (A) Eleusine coracona/ bY;qlhu dksjsdkuk   (B) Oryza sativa / vksjkbtk lVkbok 

 (C) Panicum miliacium / isfude fefy,fle (D) Sorghum bicolor / lksj?ke ckbdyj 

 
Part-B  (Hkkx&c) 

 

Short Answer type questions. Each question carries 2 marks (any 5)                    [2×5=10] 

y?kq mÙkjh; iz'uA izR;sd iz'u ds 2 vad fu/kkZfjr gSaA ¼dksbZ 5½  
 
Q.1 Mixed farming. 
 fefJr [ksrhA 

 

Q.2 Evapotranspiration,  
 Okk"iu ok"iksRltZuA 

 
Q.3 What is forage crops? 
 pkjk Qly D;k gS\ 

 
Q.4 Crop rotation.  
 Qly pØA 

 

Q.5 Integrated nutrient management in kharif crops. 
 [kjhQ Qlyksa esa ,dhdr̀ iks"kd rRo izcU/kuA 

 

Q.6 Inter cropping? 
 vUrjk lL;u\ 
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Part-C  (Hkkx&l) 

 

Long Answer type question. Each question carries 5 marks (any six)               [5×6=30] 

nh?kZ mÙkjh; iz'uA lHkh iz'uksa ds 5 vad fu/kkZfjr gSaA ¼dksbZ N%½ 

 

Q.1 Describe the suitable production technology of rice under following heads-    
fuEufyf[kr izeq[kksa ds rgr pkoy dh mi;qDr mRiknu rduhd dk o.kZu dhft,& 

a)    Time of sowing and method of sowing / cqokbZ dk le; ,oa cqvkbZ dh fof/k 

b)    Seed rate and seed treatment / cht nj rFkk cht mipkj 

c)     Improved Varieties / mUur fdLesa 

d)     Integrated Weed Management / ,dhd`r [kjirokj izcU/ku 

 

Q.2 Describe the cultivation of mungbean under following heads-   
fuEufyf[kr izeq[kksa ds rgr ewax dh [ksrh dk o.kZu dhft,& 

a) Improved Varieties  / mUur fdLesa  

b) Nutrient Management / iks"kd rRo izcU/ku 

c) Seed rate and seed treatment / cht nj rFkk cht mipkj 

d) Intercropping / vUrjklL;u 

 

Q.3 Describe the cultivation of sorghum under following heads-   
fuEufyf[kr izeq[kksa ds rgr Tokj dh mi;qDr mRiknu rduhd dk o.kZu dhft,& 

a) Improved Varieties  / mUur fdLesa  

b) Seed rate / cht nj  
c) Disease & Pest Management / jksx ,oa ihMd izcU/ku 

d) Intercultural Operation / vUrjofrZ fØ;k,sa 

 
Q.4 Describe the cultivation of Cowpea under following heads-   

fuEufyf[kr izeq[kksa ds rgr yksfc;k dh [ksrh dk o.kZu dhft,& 

a)    Improved Varieties / mUur fdLesa 

b)    Nutrient Management / iks"kd rRo izcU/ku 

c)    Seed rate and Seed treatment / cht nj ,oa cht mipkj 

d)    Intercropping / vUrjklL;u 

 

Q.5 Describe the cultivation of cotton under following heads-   
fuEufyf[kr izeq[kksa ds rgr dikl dh [ksrh dk o.kZu dhft,& 

a) Improved Varieties  / mUur fdLesa 

b) Nutrient Management / iks"kd rRo izca/ku 

a) Pest Management / ihM+d izca/ku 

b) Critical Stages of Irrigation / ty dh Økafrd voLFkk,a 

 

Q.6 Describe the cultivation of Groundnut under following heads-   
fuEufyf[kr izeq[kksa ds rgr ewqxQyh dh [ksrh dk o.kZu dhft,& 

a)    Seed rate and Seed treatment / cht nj ,oa cht mipkj 

b)    Improved Varieties  / mUur fdLesa  

c)    Pegging / isfxax 

d)    Disease Management / jksx izcU/ku 

 

Q.7 Describe the suitable production technology of soyabean crop under following  heads-    
fuEufyf[kr izeq[kksa ds rgr lks;kfcu dh mi;qDr mRiknu rduhd dk o.kZu dhft,& 

a) Time of sowing and method of sowing / cqokbZ dk le; ,oa cqvkbZ dh fof/k 

b) Seed rate and seed treatment / cht nj rFkk cht mipkj 

c) Improved Varieties / mUur fdLesa 



Page [9] 

 

d) Integrated Weed Management / ,dhd`r [kjirokj izcU/ku 

 
Q.8 Describe the cultivation of Urd bean under following heads-   

fuEufyf[kr izeq[kksa ds rgr mM+n dh [ksrh dk o.kZu dhft,& 

a) Seed rate and Seed treatment / cht nj ,oa cht mipkj 

b) Improved Varieties  / mUur fdLesa  

c) Intercropping / vUrjklL;u 

d) Insect and Pest Management / dhV ,oa ihM+d izcU/ku 

 

 
  
 

 

 
 

 
 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Enrollment No………………………. 

Bachelor of Science (Agriculture) 

Fifth Semester Main Examination, Dec-2020 
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Time: 3:00 Hrs                                                                          Max Marks 50 
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Part-A  (Hkkx v) 

This section contains objective type questions. Each question carry 1 marks. 

bl oxZ esa oLrqfu"B iz'u gSaA izR;sd iz'u dk ,d vad fu/kkZfjr gSA 
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Q1.  Multiple Choice Question / oLrqfu"B iz'u                  [1×10=10] Marks  

(i)  Fungi producing zoospore belong to sub division -  
 dod mRikfnr twLiksj mi&foHkkx ls lacaf/kr gS &  

(a) Mastigomycotina / esLVhxksekbdksVhuk  (b) Zygomycotina / tkbxksekbdksVhuk 

(c) Ascomycotina / ,LdksekbdksVhuk  (d) Basidiomycotina / csflfM;ksekbdksVhuk 

 

(ii)  Bacterial disease are controlled by use of chemicals -  
tfur jksxksa dk fu;a=.k fdl jlk;u ls fd;k tkrk gS &  

(a) Fungicide / doduk'kh   (b) Pesticide / ihM+duk'kh 

(c) Antibiotic / izfrtSfod   (d) None of these / buesa ls dksbZ ugh 

 

(iii)  Who is the father of plant pathology -  
 Ikkni jksx foKku ds tud dkSu gS &  

(a) Flor / ¶yksj    (b) Anton de bary / ,UVksu Mh cSjh 

(c) Mullar / ewyj     (d) Diener T.O. / Msfu;j Vh-vks- 

 

(iv)  The interaction of host, pathogen and the environment constitute - 
ijiks"kh] jksx tud ,oa i;kZoj.k dh ikjLifjd fØ;k dgykrh gS &  

(a) Disease triangle / jksx f=Hkqt  (b) Disease tetrahedron / jksx prqHkqZt  

 (c) Disease pentagon / jksx iapHkqt   (d) Disease rectangle / jksx vk;r  

 

(v)  Fungs having both transverse and longitudinal septa -  
dod ftlesa vuqizLFk ,oa vuqnS/;Z iVs ikbZ tkrh gS &  

(a) Alternaria  / vYVusfj;k   (b) Curvularia  / dqoZysfj;k 

(c) Drechsleria / Mªslysfj;k    (d) Rhiozopus / jkbtksil 

 

(vi)  Kharia disease of rice is controlled by spray of - 
 /kku ds [kSjk jksx ds izcU/ku @ fu;a=.k ds fy, fdldk fNM+dko djrs gS &  

(a) Copper Sulphate / dkWij lYQsV  (b) Manganese Sulphate / EkSXuht lYQsV 

(c) Boraxe  / cksjsDl    (d) Zink Sulphate / ftad lYQsV 

 

(vii)  The asexual spores of many fungi are -  
 dodks ds vySafxd chtk.kq gS &  

(a) Conidia / dksfuMh;k   (b) Ascospores / ,LdksLikSj 

 (c) Zygospores / tkbxksLikSj   (d) Basidiospares / csflfM;ksLikSj  

  

(viii)  Tikka disease of groundnut is caused by -  
eq¡xQyh ds fVDdk jksx dk jksxdkjd gS &  

(a) Collectotricum  / dksysVksVªkbZde   (b) Fusarium  / ¶;wtsfj;e 

(c) Verticilium  / ofVZflfy;e  (d) Cercospora / ldksZLiksjk  

 

(ix)  Wilting Sumptom known as ‘KRESEK’ occurs in -  
 fØjhlsd jksx y{k.k gS & 

(a) Verticillium  / ofVZflfy;e  

(b) Bacterial leaf blight of rice / /kku dk Hkwjk /kCck  

 (c) Collectotricum  / dksysVksVªkbZde    

(d) Cercospora / ldksZLiksjk 

 

(x)  Plant viruses contain nucleic acid -  
 Ikkni fo"kk.kq esa U;wfDyd vEy ik;k tkrk gS &  

(a) RNA    (b) DNA  

(c) Both     (d) DNA or RNA 

 

Part-B  (Hkkx c) 

Short Answer type question. Each question carries 2 marks. (any five)                       [2×5=10] 
y?kq mRrjh; iz'uA izR;sd iz'u ds 2 vad fu/kkZfjr gSaA ¼dksbZ ikap½ 
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Q.1  Sumptom of rice blast. 
 /kku ds >qylk jksx ds y{k.k fyf[k,A 

 
 

Q.2  Facultative parasites with example.   
fodYih ijthoh mnkgj.k lfgr le>kb;sA  

 

Q.3  Define epidemics with any two example.  
egkekjh dks fdUgha nks mnkgj.k ds lkFk ifjHkkf"kr dhft,A 

Q.4  Describe in brief the life cycle of late blight of tomato.  
VekVj dh iNsrh vaxekjh ds thou pØ dks laf{kIr esa le>kb;sA  

Q.5        Draw the microscopic figure of Alternaria Solani. 
vYVjusfj;k lksysuh ds lq{en'khZ; fp= dks le>kb,A 

 

Q.6  Write Okra yellow vein mosaic virus  
fHk.Mh ds ihyk f'kjk ekstsd fo"kk.kq ds ckjs esa fyf[k,A  

 

 

 

Part-C  (Hkkx l) 

 

Long Answer type question. Each question carries 5 marks (any six)             [5×6=30] 
nh?kZ mRrjh; iz'uA lHkh iz'uksa ds 5 vad fu/kkZfjr gSaA ¼dksbZ N%½ 

 

Q.1  Describe in brief the systematic position, symptomology, life cycle and management strategies of 

phomopsis blight of brinjal.  

 cSaxu ds QkseksIlhl CykbV jksx dk oxhZ—r LFkku, y{k.k, thou pØ ,oa izca/ku dks le>kb,A 

 

Q.2  Write the different between Aspergillus and Penicillium.  
 ,Lijthyl ,oa isuhlhfy;e esa vUrj fyf[k,A  

 

Q.3  Write the difference between early blight and late blight of potato. 
vkyq dh vxsrh vaxekjh ,oa iNsrh vaxekjh esa varj fyf[k,A 

 

Q.4  Write detail about eargot disease of bajara.   
cktjk dh vkxZV chekjh dks foLrr̀ esa le>kb,A  

 

Q.5 Enlist any five fungal or bacterial diseases of soybean with their causal organism. 
lks;kchu ds fdUgha ikap dod ;k thok.kq tfur jksx ,oa muds jksxtudksa ds uke fyf[k,A 

 

Q.6  Give in brief management strategies of the following- 
fuEufyf[kr jksxksa ds izca/ku dk laf{kIr esa o.kZUk dhft,A 

(i) Rice blast/ /kku dk >qylk jksx 

(ii) Seedling rot of soybean/ lks;kchu dk ikS/k lM+u jksx 

 

Q.7  Discuss the detail about the late and early tikka disease of groundnut. 
 eq¡xQyh ds vxSrh fVDdk o fiNsrh fVDdk jksx dks foLr`r esa le>kb, 

 

Q.8 Discuss in detail about the life cycle of sclerospora graminicola.  
LdysjksLiksjk] xzsfeuhdksyk ds thou pØ ds ckjs esa foLr`r esa le>kb;sA  

 

Enrollment No………………………. 
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Bachelor of Science (Agriculture) 

Fifth Semester Main Examination, Dec-2020 

Entrepreneurship Development and Business Communication [EDC531] 

Time: 3:00 Hrs                                                                         Max Marks 50 

Note :  All three sections are compulsory.  

 Student should not write anything on question paper 

Part-A  (Hkkx v) 

This section contains objective type questions. Each question carry 1 marks. 

bl oxZ esa oLrqfu"B iz'u gSaA izR;sd iz'u dk ,d vad fu/kkZfjr gSA 

Q1.  Multiple Choice Question / oLrqfu"B iz'u                               [1×10=10] Marks  

(i)  The term entrepreneurs from which language- 
'kCn bUVjçsU;kSj fdl Hkk"kk ls fy;k x;k gS& 

(a) French / Ýsap    (b) English / vaxzsth 

(c) Latin / ysfVu    (d) Greek / xzhd 

 

(ii)  Who used the word 'Entrepreneurs' at first- 
 m|eh 'kCn dk loZçFke ç;ksx fdlus fd;k Fkk& 

(a) Johnson/ tkWulu   (b) Taylor / Vsyj 

(c) Richard Cantillon / fjpMZ dsUVhyksu (d) Henery Freyal / gsujks Ýs;ky 

 

(iii)  Which of a quality should an entrepreneurs process -  
 fuEu esa ls dkSu&lk y{k.k m|eh esa gksuk pkfg, &  

(a) Innovative/ uokpkj   (b) Risk bearing / tksf[ke ogudrkZ  

(c) Initiative / igy   (d) All above / ;s lHkh  

 

(iv)  An ideal entrepreneurs desires to get_____ in his occupation- 

 ,d vPNs m|eh ds O;olk; esa ______ ikus dh çcy pkg gksrh gS& 

(a) Remuneration / ikfjJfed  (b) Freedom / Lora=rk 

(c) Individual aim/ O;fDrxr y{;  (d) High achievement / mPp miyfC/k 

 

(v)  The head office of KVIC is situated at -  

 KVIC dk izeq[k dk;kZy; fLFkr gS &  

(a) Mumbai/ eqEcbZ    (b) Kolkata / dksydkrk 

(c) Delhi / fnYyh    (d) Jaipur / t;iqj 

 

 

 

 

(vi)  KVIC has been implemented from- 
 ds-oh-vk;-lh- dc ls izkjEHk dh xbZ gS & 

(a) 1956  (b) 1970  (c) 1999 (d) 2000 

(vii)  Minimum qualification required for PMEGP scheme is -  
 ih-,e-bZ-th-ih- izkIr djus gsrq U;wure 'kS{kf.kd ;ksX;rk D;k gS &  

(a) 5
th
    (b) 8

th   
 (c) 10

th
  (d) 12

th
  

 

(viii)  PMEGP established- 
 ih-,e-bZ-th-ih- dh LFkkiuk gqbZ Fkh & 
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(a) December 2008 / fnlEcj 2008  (b) December 2009 / fnlEcj 2009  

(c) December 2010 / fnlEcj 2010  (d) December 2011 / fnlEcj 2011  

 

(ix)  SGSY has been implemented from -  

 SGSY dc ls izkjaHk dh xbZ &  

(a) 1 April 1997    (b) 1 April 1999 

(c) 1 April 2000    (d) 1 April 2003 

 

(x)  For establishing an industry the government encourages mostly -  
m|ksx dh LFkkiuk gsrq 'kklu ls vR;f/kd izksRlkgu feyrk gS &  

(a) In urban area / 'kgjh {ks= esa   

(b) In urban industrial / 'kgjh vkS|ksfxd {ks= esa 

(c) In village & backward area / xzkeh.k ,oa fiNM+s {ks= esa  

(d) All of above / mjksDr lHkh 

 

Part-B  (Hkkx c) 

Short Answer type question. Each question carries 2 marks. (any five)         [2×5=10] 
y?kq mRrjh; iz'uA izR;sd iz'u ds 2 vad fu/kkZfjr gSaA ¼dksbZ ikap½ 

Q.1        Define the Agri-entrepreneurship.  
df̀"k m|ferk dks ifjHkkf"kr dhft,A  

 

Q.2  Define the leadership. 
usrR̀o dks ifjHkkf"kr dhft,A 

 

Q.3  Explain the concept of entrepreneurship.  
m|eh dh vo/kkj.kkvksa dks Li"V dhft,A  

 

Q.4  What do you mean by Achievement motivation?   
y{; izkfIr dh izsj.kk ls vki D;k le>rs gS\ 

 

Q.5  What is supply chain management?    
vkiwfrZ Jà[kyk izca/ku D;k gS\  

 

Q.6  What do you mean by management?  
izca/ku ls vki D;k le>rs gS\  

 

Part-C  (Hkkx l) 

Long Answer type question. Each question carries 5 marks (any six)   [5×6=30] 
nh?kZ mRrjh; iz'uA lHkh iz'uksa ds 5 vad fu/kkZfjr gSaA ¼dksbZ N%½ 

 

Q.1  Describe the SWOT analysis. 
LoksV ,ukfyfll dk o.kZu dhft,A 

 

Q.2  Define the entrepreneurship. Describe the characteristics of entrepreneur.  
 m|eh dh ifjHkk"kk dhft,A m|eh dh izeq[k fo'ks"krkvksa dk o.kZu dhft,A  

 

Q.3  What is the Agri-entrepreneurship? Write the scope for entrepreneurship development  in 

agriculture. 
 —f"k m|ferk D;k gS\ —f"k esa m|ferk fodkl ds fy, {ks= fyf[k, 

 

Q.4  Define the communication. Describe the key elements of communication process.  
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 lapkj dks ifjHkkf"kr dhft,A lapkj izfØ;k ds izeq[k rRoksa dk o.kZu dhft,A  

 

Q.5  Describe the role of KVIC in the entrepreneurship development.   

 m|ferk fodkl esa KVIC dh Hkwfedk dk o.kZu dhft,A   

 

Q.6 Define leadership. Describe the characteristics of leadership. 
usrR̀o dks ifjHkkf"kr dhft,A usr̀Ro ds y{k.kks dk o.kZUk dhft,A 

 

Q.7 Explain the management and write their functions.  
izca/ku dks le>kb, ,oa blds dk;ksZ dks fyf[k,A  

 

Q.8 What are the problems of entrepreneurship? How to solve these problems.   
m|ferk dh leL;k, D;k gksrh gS\ budk lek/kku fdl izdkj fd;k tkrk gSA  

 

 

 

 
Enrollment No………………………. 

Bachelor of Science (Agriculture) 

Fifth Semester Main Examination, Dec-2020 

Geoinformatics and Nano-technology for Precision Farming [GNF531] 

Time: 3:00 Hrs                                                                       Max Marks : 50 

Note : All 3 sections are compulsory.  

Student should not write anything on question paper. 

 

Part-A  (Hkkx&v) 

This section contains objective type questions. Each question carry 1 marks.  

bl oxZ esa oLrqfu"B izdkj ds iz'u gSaA izR;sd iz'u dk ,d vad fu/kkZfjr gSA 

 

Q.1 Multiple choice Question / oLrqfu"B iz'u&              [1x10=10] 

 

(i)    How many set of satellite in GPS- 
th-ih-,l- esa fdrus lsVsykbV dk lsV gksrk gSa& 

 (A) 6    (B)12 

 (C) 8     (D) 24 

 

(ii)  Indian institute of remote sensing establishment in year- 
Hkkjrh; fjeksV lsfUlax lLFkku dh LFkkiuk lu~ esa gqbZ& 

 (A) 1965    (B) 1968  

 (C) 1966    (D) 1969 
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(iii)  Phosphorus is extracted by- 
 QkLQksjl fudkyk tkrk gS& 

 (A) KMnO4 Method / KMnO4 fof/k  (B) Olsen Method / vksy’ku fof/k  

 (C) Flam Photometer / ¶yse QksVks ehVj (D) Zendal Method / tsuMky fof/k }kjk 

 

(iv)  Which data is displayed as a word in GIS- 
th-vkbZ-,l- esa oMZ ds :i esa dkSuls MsVk dks n'kkZ;k tkrk gSa& 

 (A) Victor Data / foDVj MkVk  (B) Restar Data / jsLVj MsVk 

 (C) Special Data / fo'ks"k MkVk  (D) All of the above / mijksDr lHkh 

 

(v)  Potash is extracted by- 
 iksVk'k fudkyk tkrk gS& 

 (A) Olsen Method / vksy’ku fof/k  (B) Flam Photometer / ¶yse QksVks ehVj  

 (C) KMnO4 Method / KMnO4 fof/k  (D) Zendal Method / tsuMky fof/k }kjk 

  

 

 

(vi)  What is use of GPS- 
   th-ih-,l- dk D;k mi;ksx gS& 

 (A) Field Diagram / [ksr dk uD'kk cukus esa   

 (B) Field Location / [ksr dh fLFkfr crkus esa  

 (C) Field Capacity / {ks= {kerk ds fy,    

 (D) All of the above / mijksDr lHkh 

  

(vii)  What is use of GIS- 
th-vkbZ-,l- dk D;k mi;ksx gS& 

 (A) Field Diagram / [ksr dk uD'kk cukus esa   

 (B) Field Location / [ksr dh fLFkfr crkus esa  

 (C) Field Capacity / {ks= {kerk ds fy,    

 (D) All of the above / mijksDr lHkh 

 

(viii)  Why are making crop simulation model- 
 Qly fleqys’ku ekWMy D;ksa cuk;k tkrk gSa& 

 (A) Forecasting of crop production / Qly mRiknu dh HkfOk";ok.kh 

 (B) Field survey / Hkwfe ijh{k.k ds fy, 

 (C) Increase the cost of crop production / Qly ykxr mRiknu dks c<+kok nsuk 

 (D) All of the above / mijksDr lHkh 

 

(ix)  National Remote Sensing Center located in- 
 jk"Vªh; fjeksV lsaflx laLFkk fLFkr gS& 

 (A) Kerala / dsjy    (B) New Delhi / ubZ fnYyh 

 (C) Hyderabad / gSnjkckn    (D) Mumbai/ eqEcbZ 

 

(x)  What is use of GPS- 
   th-ih-,l- dk D;k mi;ksx gS& 

 (A) Field Diagram / [ksr dk uD'kk cukus esa   

 (B) Field Location / [ksr dh fLFkfr crkus esa  

 (C) Field Capacity / {ks= {kerk ds fy,    

 (D) All of the above / mijksDr lHkh 

  

Part-B  (Hkkx&c) 
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Short Answer type questions. Each question carries 2 marks (any 5)                   [2x5=10] 

y?kq mÙkjh; iz'uA izR;sd iz'u ds 2 vad fu/kkZfjr gSaA ¼dksbZ 5½  
 
Q.1 Concept of precision agriculture.      
 fizf'ktu ,xzhdYpj dh vo/kkj.kk,sa fyf[k,A 

 

Q.2 Importance of remote sensing.  
 fjeksV lsfUlx dk egRo fyf[k,A 

 

Q.3 What is crop simulation model? 
 Qly fleqys'ku ekWMy D;k gSa\ 

 

Q.4 Explain the components of  remote sensing.   
 fjeksV lsfUlx ds ?kVdksa dks ifjHkkf"kr dhft,A 

 

Q.5 Use of GIS in agriculture. 
 Ñf"k esa th-vkbZ-,l- dk mi;ksx crkb,A 

 

Q.6 Explain the passive remote sensing.   
 fuf"Ø; fjeksV lsfUlx dks ifjHkkf"kr dhft,A 

 
 

Part-C  (Hkkx&l) 

 

Long Answer type question. Each question carries 5 marks (any six)                   [5x6=30] 

nh?kZ mÙkjh; iz'uA lHkh iz'uksa ds 5 vad fu/kkZfjr gSaA ¼dksbZ N%½ 

 

Q.1 Introduction of soil test crop response and its approach.        
feêh ijh{k.k izfrfØ;k dk ifjp; nsrs gq, mlds nf̀"Vdks.k crkb,A 

 

Q.2 Explain the basic steps of precision farming.  
 fizf'ktu QkfeZax dh cqfu;knh dne dks ifjHkkf"kr dhft,A 

 

Q.3 Explain the components of  remote sensing.   
 fjeksV lsfUlx ds ?kVdksa dk o.kZu dhft,\  

 

Q.4 Explain the use of crop simulation model? 
 Qly fleqys'ku ekWMy ds mi;ksx fyf[k,\ 

 

Q.5 Define the Nano – technology definition and concept of Nano-technology. 
 uSuks rduhd dks ifjHkkf"kr djrs gq, mldh ifjHkk"kk ,oa vo/kkj.kk fyf[k,A 

 

Q.6 Explain the field monitoring and soil mapping in GIS? 
 th vkbZ ,l esa mRiknu ekWfuVfjax ,oa lkW;y esfiax dks ifjHkkf"kr dhft,\  

 

Q.7 Explain the interpreting plant analysis in soil test crop?  
 feV~Vh ijh{k.k Qly izfrfØ;k esa bUVjfizafVax l;a= fo'ys"k.k dh O;k[;k dhft,\ 

 

Q.8 Explain the advantage and disadvantages of precision agriculture.  
 fizfltu ,xzhdYpj ds ykHk ,oa gkfu;ka fyf[k,A 
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Enrollment No………………………. 

Bachelor of Science (Agriculture) 

Fifth Semester Main Examination, Dec-2020 

Intellectual Property Rights [IPR531] 

Time: 3:00 Hrs                                                                          Max Marks 50 

Note :  All three sections are compulsory.  

 Student should not write anything on question paper 

Part-A  (Hkkx v) 

This section contains objective type questions. Each question carry 1 marks. 

bl oxZ esa oLrqfu"B iz'u gSaA izR;sd iz'u dk ,d vad fu/kkZfjr gSA 

Q1.  Multiple Choice Question / oLrqfu"B iz'u        [1×10=10] Marks  

 

(i)  The head quarter of WTO (world trade organization) is located at- 
fo'o O;kikj laxBu dk eq[;ky; fLFkr gS& 

(a) Rome / jkse   (b) Geneva / ftusok 

(c) Italy / bVyh   (d) Germany / teZuh 

 

(ii)  GATT established in which year -  
xsV fdl o"kZ esa ikfjr gqvk &  

(a) 1948 (b) 1999 (c) 2000 (d) 2001 

 

(iii)  NBPGR is located at- 

 NBPGR fLFkr gS& 

(a) Chennai / pSUubZ  (b) New Delhi / ubZ fnYyh   

(c) Mumbai / eqEcbZ    (d) Hyderabad / gSnjkckn  

 

(iv)  Duration of trademark in India is- 
Hkkjr esa VªsMekdZ dh vof/k gS& 

(a) 5 years / 5 o"kZ  (b) 10 years / 10 o"kZ 

(c) 15 years / 15 o"kZ  (d) 20 years / 20 o"kZ 
 

(v)  According to Indian patent act (1970) the duration of patent in India is- 

Indian patent vf/kfu;e ds vuqlkj Hkkjr esa patent dh vof/k gS&  

(a) 4-5 years / 4&5 o"kZ  (b) 15-20 years / 15&20 o"kZ 

(c) 7-14 years / 7&14 o"kZ  (d) 20-25 years / 20&25 o"kZ 

 

 

 

(vi)  In which year PVP and FR (protection of plant varieties and farmers rights) act was passed- 
 ikS/k fdLe vkSj —"kd vf/kdkj laj{k.k vf/kfu;e fdl o"kZ esa ikfjr gqvk Fkk& 

(a) 2000 (b) 2003 (c) 2001 (d) 2004 

 

(vii)  WTO was established in the year -  
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 fo'o O;kikj laxBu dh LFkkiuk dc gqbZ &  

(a) 1994 (b) 1995 (c) 1993 (d) 1998 

 

(viii)  Indian patent act was established in the year - 
Hkkjrh; isVsaV vf/kfu;e dh LFkkiuk dc gqbZ &   

(a) 1998 (b) 1970 (c) 1997 (d) 2001 

 

(ix)  The head quarter of PPV and FR authority is located in -  
ikS/kksa dh fdLeksa dh lqj{kk vkSj fdlku vf/kdkj izkf/kdj.k dk eq[;ky; fLFkr gS &  

(a) Kolkata / dksydkrk  (b) Mumbai / eqEcbZ 

(c) New Delhi / ubZ fnYyh (d) Chennai / psUubZ 

 

(x)  The international head quarter of UPOV is located in -  
Uk, ikS/kksa dh fdLeksa ds laj{k.k ds fy, vUrjkZf"Vª; la?k dk eq[;ky; fLFkr gS &  

(a) France / Ýkal   (b) USA / vesfjdk  

(c) Rome / jkse   (d) Geneva / ftusok  

 

Part-B  (Hkkx c) 

Short Answer type question. Each question carries 2 marks. (any five)         [2×5=10] 
y?kq mRrjh; iz'uA izR;sd iz'u ds 2 vad fu/kkZfjr gSaA ¼dksbZ ikap½ 

Q.1        Write the definition of IPR.  
vkbZ ih vkj dh ifjHkk"kk fyf[k,A  

 

Q.2  Define the Trade mark.  
VªsM ekdZ dh ifjHkk"kk fyf[k,A  

 

Q.3  Define of Farmer variety.  
—"kd fdLe dh ifjHkk"kk fyf[k,A  

 

Q.4  What is property and types of property?  
lEifRr vkSj lEifRr ds izdkj D;k gS\  

 

Q.5  Write the requirement of plant breeders rights (PBR).  
ikS/k iztud ds vf/kdkjksa dh vko';drk,¡ fyf[k,A  

 

Q.6  Define the industrial design.   
vkS|ksfxd fMtkbu dks ifjHkkf"kr dhft,A  

 

Part-C  (Hkkx l) 

 

Long Answer type question. Each question carries 5 marks (any six)      [5×6=30] 
nh?kZ mRrjh; iz'uA lHkh iz'uksa ds 5 vad fu/kkZfjr gSaA ¼dksbZ N%½ 

 

Q.1  Explain about the benefit and problems of IPM.  
 vkbZ ih ,e ds ykHk vkSj leL;kvksa ds ckjs esa foLrkj ls le>kb;sA  

 

Q.2 What is WTO and explain objectives and function.  
fo'o O;kikj laxBu D;k gS RkFkk mlds mn~ns'; ,oa dk;Z dh O;k[;k dhft,A  

 

Q.3  Discuss in detail about Trademark.  
VªsMekdZ ds ckjs esa foLrkj ls le>kb;sA  
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Q.4  Describe the breeder’s right with their advantages and disadvantages.  
ikni iztuu vf/kdkjksa dk o.kZu dhft, rFkk blds ykHk ,oa gkfu;k¡ fyf[k,A  

 

Q.5  Explain in detail about geographical indications.  
 HkkSxksfyd ladsrksa ds ckjs esa fOkLrkj ls le>kb;sA  

 

Q.6 Write the difference between UPOV act 1978 and UPOV act 1991.  
viks vf/kfu;e 1978 vkSj 1991 esa vUrj fyf[k,A  

  

Q.7  Discuss in detail about convention on biological diversity.  
 tSfod fofo/krk ds lEesyu ds ckjs esa foLrkj ls ppkZ dhft,A  

 

Q.8  Explain in detail about - / fuEu ds ckjsa eas foLrkj ls le>kb;s &  

(i) Farmers Rights / d̀"kd vf/kdj  

(ii) GATT / xsV  

 

 

 

 

 

 

Enrollment No………………………. 

Bachelor of Science (Agriculture) 

Fifth Semester Main Examination, Dec-2020 

Manures, Fertilizers and Soil Fertility Management [MFS531] 

Time: 3:00 Hrs                                                                       Max Marks : 50 

Note : All 3 sections are compulsory.  

Student should not write anything on question paper. 

 

Part-A  (Hkkx&v) 

 

This section contains objective type questions. Each question carry 1 marks.  

bl oxZ esa oLrqfu"B izdkj ds iz'u gSaA izR;sd iz'u dk ,d vad fu/kkZfjr gSA 

 

Q.1 Multiple choice Question / oLrqfu"B iz'u&                [1x10=10] 

 
(i)  Ca, Mg and S element is- 

 Ca, Mg o S rRo gS & 

 (a) Primary / izkFkfed    (b) Secondary / f}rh;d 

 (c) Both / nksuksa    (d) None of these / buesa ls dksbZ ugh 
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(ii)  The most useful test for soil fertility assessment is- 
   Ekǹk moZjrk ewY;kadu ds fy, lcls mi;ksxh ijh{k.k gS & 

 (a) Available Nitrogen / miYkC/k UkkbVªkstu  (b) Bio-Carbon / tSo dkWcZu 

 (c) PH / ih-,p-    (d) Phosphorus / QkWLQksjl 

 
(iii)    Red soil is found in-  
 yky eǹk dgka ikbZ tkrh gS & 

 (a) Madhya Pradesh / e/;izns’k   (b) Andhra Pradesh / vka/kzizns’k 

 (c) Tamilnadu / rfeyukMq   (d) Uttar Pradesh / mÙkjiznsz’k 
 

(iv)  The first manufactured fertilizer in India is- 
fuEu esa ls lcls igys Hkkjr esa dkSu&lk moZjd cuk;k x;k& 

 (a) DAP/  Mkbveksfu;e QkWLQsV 

 (b) SSP / flaxy lqij QkWLQsV 

 (c) CAN / dSfY'k;e veksfu;e ukbVªsV 

 (d) KCI / iksVsf'k;e DyksjkbM 

 
(v)  Which mineral is used for amendement in alkaline soil -  

fuEu esa ls fdl [kfut dk mi;ksx {kkjh; eǹk lq/kkj ds :i esa fd;k tkrk gS & 

 (a) CI/  Dyksjhu    (b) Zypsum / ftIle 

 (c) FYM / xkscj dh [kkn    (d) None of these / buesa ls dksbZ ugha 

  

 

 

 

 

(vi)  Which form obserbed by nitrogen in rice crops -  
 /kku dh Qly ukbVªkstu dks fdl :i esa xzg.k djrh gS &  

 (a) No3 / ukbVªsV    (b) NH4 / veksfu;k 

 (c) Both / nksuksa   (d) None of these / bueas ls dksbZ ugha 

 

(vii) Nitrogen % in urea is - 
 ;wfj;k esa ukbVªkstu izfr'kr fdruk gksrk gS &  

 (a) 44   (b) 45 

 (c) 46   (d) 47 
 

(viii)  PH Scale discovered by- 

 fuEufyf[kr esa ls PH Ldsy dh [kkst fdlus dh Fkh& 

 (a) Thomson way  / Fkkelu os   (b) C.E. Marshall / lh- bZ- ek'kZy 

 (c) Sorenson / lksjslu    (d) Hans Jeny / gsl tsuh 

  

(ix)  The most favorable PH availability most of the plant nutrient is- 

   ikS/kksa esa fuEu esa ls fdl PH iks"kd rRoksa dh miyC/krk lcls vf/kd gksrh gS& 

 (a) 8-9   (b) 7-8 

 (c) 6-7   (d) 5-6 
  

(x)  The percent content of N and P in DAP is - 

 DAP eas u=tu ,oa QkLQksjl dh ek=k crkb,& 

 (a) 16-32   (b) 46-48 

 (c) 18-46   (d) 20-25 
 

Part-B  (Hkkx&c) 

Short Answer type questions. Each question carries 2 marks (any 5)                    [2×5=10] 
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y?kq mÙkjh; iz'uA izR;sd iz'u ds 2 vad fu/kkZfjr gSaA ¼dksbZ 5½  
 
Q.1 Write the definition of green manure?   
 gjh [kkn dh ifjHkk"kk fyf[k,A 

 

Q.2 Explain of the Nano fertilizers.   
 usuks moZjdksa dks le>kb,A 

 
Q.3 What is nutrient use efficiency?  
 iks"kd rRo mi;ksx n{krk D;k gSA 

 

Q.4 What is the indicative plant.  
 lwpd ikS/kksa dks ifjHkkf"kr dhft,A 

 

Q.5 Write the function of nitrogen in the plant.  
 ikS/ks esa ukbVªkstu ds dk;Z fyf[k,A 

 

Q.6 Explain of the micro nutrients. 
 lw{e iks"kd rRoksa dks le>kb,A 

 

 

Part-C (Hkkx&l) 

 

Long Answer type question. Each question carries 5 marks (any six)               [5×6=30] 

nh?kZ mÙkjh; iz'uA lHkh iz'uksa ds 5 vad fu/kkZfjr gSaA ¼dksbZ N%½ 

 

Q.1 What is organic manures? Explain its importance with example.      
dkcZfud [kkn D;k gksrh gSa\ blds egRo dks mnkgj.k lfgr le>kb,A 

 
Q.2 Explain the integrated nutrients and write their components.   
 ,dhÑr iks"kd rRoksa dks le>kb, rFkk mlds vo;o fyf[k,A 

 

Q.3 What is the soil amendments ? Explain in detail  
 eǹk lq/kkjd D;k gSA foLrkj ls le>kb,A 

 
Q.4 Explain the classification of chemical fertilizers?   

jklk;fud moZjdksa dks oxhZÑr dhft,A 

 

Q.5 What is the essential of nutrient? How many elements are necessary according to  this.  
 ikS"kd rRoksa dh vfuok;Zrk dk D;k vk/kkj gS\ blds vuqlkj fdrus rRo vko';d gSA 

  
Q.6 Explain the symptoms of deficiency and excess of any one element in the plant. 
 ikS/kksa esa fdlh ,d rRo dh deh ,oa vf/kdrk ds y{k.k fyf[k,A 

 
Q.7 Explain the different methods of fertilizer usage.  

moZjd iz;ksx dh fofHkUu fof/k;ksa dks le>kb,A 

 

Q.8 Inlist the essential plant nutrients.  
 vko';d ikni iks"kd rRoksa dks lwphc) dhft,A 
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Enrollment No………………………. 

Bachelor of Science (Agriculture) 

Fifth Semester Main Examination, Dec-2020 

Principles of Integrated Pest and Disease Management [PDM531T] 

Time: 3:00 Hrs                                                                          Max Marks 50 

Note :  All three sections are compulsory.  

 Student should not write anything on question paper 

Part-A  (Hkkx v) 

This section contains objective type questions. Each question carry 1 marks. 

bl oxZ esa oLrqfu"B iz’u gSaA izR;sd iz’u dk ,d vad fu/kkZfjr gSA 

Q1.  Multiple Choice Question / oLrqfu"B iz’u                        [1×10=10] Marks  

(i)  Completely resistant plant is called as-  
 iwjh rjg ls izfrjks/kh ikS/kksa dks dgk tkrk gS& 

(a) Susceptiple  / lqxzgh   (b) Immune / izfrj{kh 

(c) Viruless  / mxz    (d) All of these / mijksDr lHkh 

 

(ii)  The term integrated control was first defined by- 
 ,dh—r fu;a=.k 'kCn igyh ckj ifjHkkf"kr fd;k x;k Fkk& 

(a) Stern at al / LVuZ ,V vy   (b) Smith / fLeFk 

 (c) Van den Bosch / oku Msu ck¡p  (d) None of these / buesa ls dksbZ ugha 

 

(iii)  Exclusion of plaint desease by legisiation is known as- 
 dkuwu }kjk ikS/kksa dh chekjh dk fu"ks/k dgykrk gSA 

(a) Plant quarantine  / ikni laxjks/kh    

(b) Biological control / TkSfod fu;a=.k  

(c) Administrative control / iz'kklfud fu;=.k   

(d) None of these / buesa ls dksbZ ugha 

 

(iv)  The quarantine act passed by india is= 
Hkkjr }kjk ikfjr laxjks/k vf/kfu;e gS 

(a) Destructive Insect and pest act 1914 / fou'kkh dhV ,oa uk'kd tho vf/kfu;e 1914 

 (b) Destructive insect and disease act 1914 / fouk'kh dhV ,oa laxvf/kfu;e 1914 

 (c) Pest and disease act 1914/ dhV ,oa jksx vf/kfu;e 

  (d) None of these / buesa ls dksbZ ugha 

 

(v)  Thirom is used as - 
Fkkbje dk mi;ksx fd;k tkrk gS& 

(a) Seed treatment  / cht mipkj   

 (b) Soil treatment  / eǹk mipkj  
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(c) Growth promotes / o`f) izksRlkgu 

 (d) None of these / buesa ls dksbZ ugha 

 

 

(vi)  NPV is used at which stage of insects- 
,u- ih- oh- dk mi;ksx dhV dh fdl voLFkk ij fd;k tkrk gS& 

(a) Adult stage / izks< voLFkk   (b) Egg stage / v.Mk voLFkk 

 (c) Larva stage/ fMEFkd voLFkk  (d) Pupa stage / I;wik voLFkk  

 

(vii)  Khaira disease of rice is due to deficiency of which nutrients- 
fdl iks"kd rRo dh deh ds dkj.k /kku dk [kSjk jksx gksrk gS& 

(a) Magnise / eSXuht   (b) Magnesium / eSXuhf'k;e 

 (c) Zink / ftad    (d) Iron / vk;ju 

  

(viii)  The use of light traps is a method of IPM. 
izdk'k iziap ,dhÑr izca/ku dh ,d fof/k gS 

(a) Biological method / tSfod fof/k    (b) Mechanical method / ;kf=d fof/k  

(c) Chemical method / jklk;fud fof/k   (d) Cultural method/ Ñ"k.k fof/k  

 

(ix)  Which method is mastly use to tesmite control  
 nhed dks fu;af=r djus ds fy, vf/kdrj fdl fof/k dk mi;ksx fd;k tkrk gS  

(a) Chemicl method  / jklk;fud fof/k   (b) Biological method/ tSfod fof/k  

 (c) Irrigation method / flpkbZ fof/k   (d) Mechanical method  / ;kf=d fof/k  

 

(x)  Which one is the following is used for biological control.  
 fuEu esa ls dkSu lk tSfod fu;a=.k ds fy, mi;ksx fd;k tkrk gS & 

(a) Predators / ijHk{kh    

(b) Furnigants  / /kwzed  

(c) Pesticided aerosal/ ihM+d uk'kh ,sjkstsy     

(d) None of these / buesa ls dksbZ ugha 

 

Part-B  (Hkkx c) 

Short Answer type question. Each question carries 2 marks. (any five)                          [2×5=10] 
y?kq mRrjh; iz’uA izR;sd iz’u ds 2 vad fu/kkZfjr gSaA ¼dksbZ ikap½ 

 

Q.1        Define the IDM.  
 ,dhÑr jksx izca/k dks ifjHkkf"kr dhft,A 

 

Q.2  Define of the IPM 
,dhÑr dhV izca/ku dks ifjHkkf"kr dhft,A 

 

Q.3  Write a breif note on the physical methods insect control  
dhV fu;=a.k dh HkkSfrd fof/k ij laf{kIr fVIi.kh fyf[k,A 

 

Q.4  Write the types of Pesticides  
ihMduk'kdksa ds izdkj fyf[k,A 

Q.5  Write the IPM in gram.  
pus esa vkbZ-ih- ,d fyf[k,A 

 

 

Part-C  (Hkkx l) 

 

Long Answer type question. Each question carries 5 marks (any six)              [5×6=30] 
nh?kZ mRrjh; iz’uA lHkh iz’uksa ds 5 vad fu/kkZfjr gSaA ¼dksbZ N%½ 

 

Q.1  What are the merits and demerits of biological control.  
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 tSfod fu;a=.k ds xq.k vkSj nks"k D;k gS\ 

 

Q.2 Explain of major components of IPM.  

IPM ds izeq[k ?kVdksa dk o.kZu dhft,A 

 

Q.3  Describe different cultural methods for plant disease management. 
 ikni jksx izcU/ku gsrq fofHkUu d"kZ.k fØ;kvksa dk o.kZUk dhft,A  

 

Q.4  Write the classification of insecticides based on mode of entry.   
izos'k fof/k ds vk/kkj ij dhVuk'kdksa dk oxhZdj.k fyf[k,A 

 

Q.5  Enlist insect pests attacking the paddy crop and write the IPM of yellow stem bores.  

 /kku ds uk'kd dhVksa dh lwph cuk, ,oa ihyk ruk Nsnd dk IPM fyf[k,A 

 

Q.6 Describe in brief about principles of plant disease management.   
,dhÑr jksx izac/ku ds fl)krksa dk l{ksai esa o.kZu dhft,A 

  

Q.7  Describe in brief about plant disease resistemce.  
 ikS/kksa esa jksx izfrjks/k dk la{ksi esa o.kZu dhft,A 

 

Q.8  Write short notes on following- (any-2) 
laf{kIr fVIi.kh fyf[k,&¼dksbZ nks½ 

(i) Bordeaux mixture/ cksMksZ feJ.k  

(ii) Crop rotation / Qly pØ 

 (iii) Plant quarantine / ikni laxjks/k 

 

 

 

 

 

 

 

 

 

 

 


